Вариант №1
1. Вычислите   f I (х0), если

а)  f(х) = 6(4х + 3), х0 = -1;     б)   f(х) = 2 – 2cosх,   х0 = π/6;     в) f(х) = х3-4х2+5х,  х0 = 3;

2. Решите неравенство:      f I (х) ≥ 0, если f(х) = х4 – 4х2; 

3. Решите уравнение   f I (x) = 0, если  f(х) = 2cosx+x
Вариант №2
1. Вычислите   f I (х0), если

а)  f(х) = 7(2х -11), х0 = -2;     б)   f(х) = 3 – 2sinх,   х0 = π/3;     в) f(х) = х3+6х2-8х,  х0 = -3;

2. Решите неравенство:      f I (х) < 0, если f(х) = 3х2  -1/4x4 

3. Решите уравнение   f I (x) = 0, если  f(х) = 2sinx+x
